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Three sets of 336 English books, 240 Mathematlcs
books and 96 Science books have to be stacked in
such a way that all the books are stored subject-
wise and the height of each stack is the same. Total
number of stacks will be:

336 373aiT Sl TohdTs, 240 30T T fohdrs 3iR 96
ﬁm@rﬁmﬁ%z—ﬁﬁﬁ‘daﬁsa g O T fonar
ST & foh T3t g&ceh [awar-a%q & &9 :ﬁrw%?r?ra‘h
W@Eﬁjuls AT &l ET@rcm &7 graf:

» a)l4

0100 =

c)22
d)48
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The greatest possible length which can be*tE
to measure exactly the lengths 7m, 3m 85cm,
and 12m 95cm is ?

dg gad J81 AT9 FIT & Tordehl 39T od1s 7m,
3m 85cm, 3R 12m 95 AT Y R-J1 AT &
fOIT T ST Gohar g7

a) 16cm

m b) 25cm

c) 15cm

» d)35cm
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There are three farms, whose area is 288, 408 ands
sguare meters, respectively.in which rows of equal
length has to be made, If the width of each row is 4
meters, then what will be the maximum length ?

dieT Wd &, TSeehT &13% ol A 288, 408 TG 552 qaTHIeY
& | ST SRISTT-SRTSX AT T fol T FITRAT T+ & | Tl

Ycdeh FIRT hl TISTS 4 HeX g1, dl 3edeh! TSI oF7dls

FIT gIafr?

a)3 metre

Bmm )5 metre
c)4 metre

» d) 6 metre
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Two numbers, both greater than 29, have
HCF 29 and LCM 4147. Find sum of two
numbers.

20 ¥ ST & HEAT3T T 7.9. 29 3 o.4.
4147 & At 3T GEIATHT T AT AT T ?

01.00 oo
» (b) 696

(c) 669
(d) 666
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The LCM of two numbers is 1920 and th‘lr
HCF is 16. If one of the number is 128, find
the other number.

&l GEAT3T &l 1. 9. 1920 JATH.F. 16 § | 38
T Ueh J&AT 128 & ol gHI HEAT 1312

(a) 204

01:00 » (b) 240

(c) 260
(d) 320
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The sum of two numbers is 1215 and tkhver
HCF is 81. How many pairs of such number
IS possible?

&l TEIT3T T AT 1215 § 3] 3T HCF 81
& | UHT HEAT3T & fohcel J9H |t §?

01:00

» (@4
(b) 2
(c) 3
(d) 5
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The product of two numbers is 11830 ad
their HCF is 13. How many pairs of such
number can be formed ?

de &l TEIT3AT &1 IUTT%hel 11830 ¢ 3R
3olehl HCF 13. %‘I%’I T GEIAT3 o fohdal

IH FHT 27
»” (a) 4
01:00 OF
(c) 3

(d) 5
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The ratio of two numbers is 9:11 andkthelr
HCF is 18, then their LCM is:

a’rmzrﬁqﬂ 37741 9: 11 %‘fﬁhﬂ%ﬂﬂ
FHTIT 18 & oY 31 TITH HATIT &

(a) 1718

01:00

»(b) 1782
(c)1584

(d)1208
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Two numbers are in the ratio of 5: 7. The
product of their LCM and HCF is 12635.
then the sum of the numbers will be.

&l TEITT 5:7 & 3eTqTcd H 8| 3oTeh H.G. AT
. F. T 0D 12635 & | HEAT3HT I

1Tl gIaTT|
(a) 252
01:00 » (b) 228
(c) 304

(d) 380
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HCF and LCM of two 3-digit numbers are
23 and 1771 respectively. Find the sum of
numbers ?

€crion © )
Lorym——

YT 37ehT ShT & TEIT3T T A.9. JAT . F.
AL 23 3 1771 §1 37 T&IAT3T &7 AT

e W) a)414

01:00 b)391

c)460

d)322
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The product of LCM and HCF of two numbers is
24300. Those numbers are In ratio of 4: 3. What
IS the sum of LCM and HCF of two numbers?

al &3 & o.F. TUT H.F. AT J0AhoT 24300 ¢
3oT TEATIHT H 4:3 T 3HeITd © | 3o HEAT3T &
J.g. dUTAG. R IRTFATE?

01:00 s
» b)585

c)720

d)765
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The sum of LCM and HCF of two numbers 1S
4956. Those numbers have a ratio of 11: 16.

What's the difference between LCM and HCF
of two numbers?

al TEAT3T o of.F. AT H.9 T J19T 4956 | 3T
HEITHT 7 11 : 16 &1 34T & | 3T HEAT3HT
of. 9. JUT H.H. &l 3R cran%’?

m a)4480

0)4620
c)4780

»» d)4900
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Sum of two numbers is 128 and their HCF al
LCM are 8 and 504 respectively. The sum of
the reciprocal of those numbers will be

al TEAT3T T AIThoT 128 § TUT 3a7oh A. 9. T
o H. ShART: 8 AT 504 &1 37 TEIT3T & YcshAl

T JTIThel gIaMT

01:00 By
b)1/28
c) 8/27

» d)16/63
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Three numbers which are coprime to one |
another are such that the product of the
first two Is 551 and that of the last two is
1073. The sum of the three numbers is :

dleT IE&ITT S 98 37T § iR ugarar
HEAT3T T IUTAHe 551 & 3R 3TAH &
&I ol dIUIo-ILh(ﬂ 1073 &1 el TEIT3T I

e a)75
01:00 01
» c)85

d)89



another are such that the product of the first
two Is 1891 and that of the last two is 7991.
The sum of the three numbers is :

dieT IEITT ST Tg AT g 31 uger &y G&AT3it
HEIT3T &1 OB 1891 &1 3R 31T aF &
AUTADS 7991 & [cileT HEAT3T T AT &

01:00 »a 23
b) 233
C) 267
d)257




